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1. Regarding on Forms, there is no "data exist check” component in mobile page.
A. TRUE

B. FALSE

Answer(s): A

2. Which of the following statements are correct about app import and export? (Multiple Choice)

(J A. App export includes information such as model, pages, services, and rules.

(J B.App export and import enable apps to be migrated in different environments.

(J C. Model can be exported separately or exported with the App.

D. App export can contain model data. However, it is not recommended to export model data that
contains a large amount of data.

Answer(s): ABCD

3. What are the pain points of traditional IT software architecture and development process?
(Multiple Choice)

(J A.The TTM of software development takes a long time.

(J B. Requirements may not be properly understood during the communication process.

(] C. Difficult to customize

(J D. No information sharing



Answer(s): ABCD

4. How many types of security policy of interface packages?

A. One type

B. Two types

C. Three types

D. Four types

Answer(s): B

5. Which of the following statements is correct about the release process of mobile app?
A. The apps that do not contain mobile pages can be used only after they are released to mobile phones.
B. After a mobile app is released, it can be updated on the mobile phone without being released again.
C. Mobile apps can be used on mobile phones without being released.

D. Areleased app can be synchronized to the mobile phone only after being upgraded and the version
must be newer than the previous version.

Answer(s): D

6. Which of the following statements is correct about Date?

A. The property of the Date type can be used as the primary key.

B. The property of the Date type can be set with default value.

C. You can set the start time and end time for the property of the Date type.

Answer(s): B




7. The request method of the Outbound REST interface does not need to be configured
according to the third party requirements. The request can be performed successfully even the
request method does not match.

A. TRUE

B. FALSE

Answer(s): B

8. Which of the following items in the SentLog interface log is set to be automatically resent?
A. Setting

B. Resend

C. Resend All

D. Manual Resend

Answer(s): A

9. Which of the following statements are correct about the positioning of the OWS platform?
(Multiple Choice)

(J A.The OWS platform is a metadata-based application development platform on the cloud.

B. The OWS platform reduces the IT threshold by fully configuring the development mode and
enables service personnel to quickly develop applications.

C. The TQL (Top Query Language) implements unified configuration of data query conditions and
rule matching conditions on the OWS-Plus platform.

(J D. Metadata definition is separated from data storage to ensure flexibility and performance.

Answer(s): AB




10. Which of the following tools are supported by the flowchart designer? (Multiple Choice)

(J A.Copy

(] B. Delete

(J C. Align up and down

(J D. Right and left alignment

(] E.Cut

Answer(s): ABCDE

11. Which of the following files is not exported when exporting an interface package?

A. Soap

B. Rest

C. Oauth2.0

D. Keystore

Answer(s): D

12. Which basic element of an app is used to store data?

A. Page

B. Service

C. Model

D. Rule



Answer(s): C

13. Which of the following configurations can be used by OWS to integrate two independent
systems?

A. App Configuration
B. Process Configuration
C. Rule configuration

D. Webservice Configuration

Answer(s): D

14. During service input parameter processing, the input of the parameter A is "China" and this
data needs to be converted to "CN" for data creation, which of the following translators needs to
be configured?

A. Combine-message
B. Related-model-search
C. Simple-data-Mapping

D. Attachment-translator

Answer(s): C

15. Which of the following structures are contained in the Form Panel container? (Multiple
Choice)

(J A. Validations

(] B. Datafields



(] C. Button

() D. Column

Answer(s): ABC

16. What can be implemented by the "update to create" exception handler?

A. Change the create service to the update service when the keycode is duplicated.

B. Change the update service to the create service when there is no data to update.

C. Change the batch_update service to the creation service.

D. Ignore exception

Answer(s): B

17. Which of the following conditions must be met when the Text type property is used as the
primary key?

A. Special characters must be configured.

B. The maximum length must be less than 250.

C. The maximum length is 4000.

D. Need to set the default value.

Answer(s): B

18. When processing the service input parameter, the values of parameter A and parameter B
need to be combined into parameter C. Which of the following translator needs to be configured?

A. Combine-message



B. Related-model-search

C. Simple-data-mApping

D. Attachment-translator

Answer(s): A

19. Which translator can be used to obtain the current user?

A. currentUser ()

B. currentTime ()

C. userGroupDisplayTranslator ()

D. utc2local ()

Answer(s): A

20. Which of the following statements is correct about page component tree? (Multiple Choice)

(J A.Another view of Form (Page)

(] B. Synchronized with the Form (Page) configuration area

(] C. Page Header only shows the view of JS & Event in Page Components Tree

Answer(s): ABC




